QUANTITY

- N
N

A AN N A A M OO N 0O 0

—

PART DESCRIPTION

ARM - SMM MATTE FINISH CARBON FIBER

BOTTOM PLATE — 3MM MATTE FINISH CARBON FIBER

TOP PLATE — 2.5MM MATTE FINISH CARBON FIBER

FRONT CROSS BRACE - 2.5MM MATTE FINISH CARBON FIBER + M3 PRESS NUTS X 4
REAR CROSS BRACE - 2.5MM MATTE FINISH CARBON FIBER + M3 PRESS NUTS X 4
FPV CAMERA MOUNT - BLACK TPU 3D PRINTED PLASTIC

M3 X BMM SOCKET HEAD STEEL SCREW- STEEL

M3 X 8BMM BUTTON HEAD STEEL SCREW- STEEL

M3 X 8MM FLAT HEAD STEEL SCREW- STEEL

#2 PHILLIPS HEAD SHEET METAL SCREW X 7/16" LONG

M3 SPACER - BLACK PLASTIC

M3 NUT - BLACK PLASTIC

M3 PHILLIPS HEAD SCREW X 12MM LONG - BLACK PLASTIC

M3 MALE / FEMALE STANDOFF X 6MM LONG - BLACK PLASTIC

M2 X 6MM SOCKET HEAD SCREW — STEEL

M3 X T9MM KNURLED STANDOFF - BLACK ALUMINUM *SLAM NASTY ONLY*

M3 X 13MM KNURLED STANDOFF - BLACK ALUMINUM *SUPER SLAM NASTY ONLY*
VELCRO BATTERY STRAP — CATALYST MACHINEWORKS AWESOMENESS



